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Note : First 15 minutes are allotted for the candidates to read the question

paper.
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Instructions:
1) Al qllt‘-“l
This q“{.\qiinu paper has two Patts - Part-A4 and Part-B,

Part-A consists 00 20 multiple choice questions of one mark each that
have to be answered on OMR Answer Sheet by darkening completel}' the
correct eirele with blue or black ballpoint pen.

i"nﬁ ﬂ.[-‘: vnl]]'pLIISOW.
i)

i)

Kor Part-A read the question-wise instructions and mark your answer on
the given OMR Answer Sheet only. Do not erase, cut or use whitener on
(he OMR Answer Shect after answering,

v)

v) Marks of the questions are mentioned against them.

vi) Part-B consists of descriptive type questions of 50 marks. There are
Descriptive-1, Descriptive-II and two map related questions in this part.

vii)  All the questions of Part-B are to be attempted all at a time.

Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.

ix) Attach firmly the supplied maps in your answer-book.
For visually impaired examinees Question Nos. 9(A) and 9(B) have been
given scparately for writing answers in lieu of map work.

Hug - A
PART - A
( Tgfrmedia W )
( Multiple Choice Type Questions )
fdw ﬁﬁqwmﬁ%gﬁmm%wﬁmﬁqw%‘mﬂ%ﬁqwaﬁomn

Tt 9 W Tufem =t

Four alternatives are given for each of the following questions.

Choose the correct alternative and mark on OMR answer sheet :

WmmmﬁqﬁﬁmW?

viii)

Instruction :

" e B T e -
() | D) ol wom | 1
1. Under whose leadership wa-s the unification of Italy don‘e ?
(a) Giuseppe Garibaldi ' (B) Otto von Bismarck

) Napicon (D) William I !
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. R 5y ‘fffta =T 2

(A) 1918 3o - E '

© “(B) 1919 30°

) 1920 ﬁo

Whe (D} 1921 3o

[ N Was the Rowlatt Act passed ? '

A . .
C] 1918 A D, (B) 1919 A.D.
(€} 1920.ap, (D) 1921 A.D.
AT g aftrpr feaa e w2 _

(A) 10 femmm (B) 5 farman

(C) 14 g (D) 153G
When is International Human Rights Day celebrated ?
(A) 10th December ' " (B) Sth September

(C) 14th November ' (D) 15th August
AR 1 oREE B =2 o |

(A) 2o g TE THSIT TR (B) e Ho

(€) et T (D), U@ A
Who was the author of ‘Gulamgiri’?"

(A) Dr. Bhim Rao Ramji Ambedkar

(B) Jyotiba Phule

(C) Kailashbashini Deévi

(D) Radha Swami Naicker

W@ﬁmﬂwmﬂé%?

a@ﬁmmma
qﬁﬁaﬁ‘rmjﬁaﬁﬁ@mﬂwﬁwé

nt
by community governrﬂe
g{}Vﬁl’n ent to
Rether

[C)
P

Wh at 15 meant
€
when the whole society runs th

t SOCig]

A) e ng differe? groy

[B} Wwhern power 18 divided among b ltiple o ps

en cut;

( There should be a governrlﬂ eﬁponsm‘“t&’ ot tives

{C] overnment with collective © Misters
Ag .

(D)
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e RT3 TE 2 o

. AT B) TR
o e | (D) forenfas
i of the following jg not 2 part of gOVernment o
" Executive - (B) Municipality
) Judiciay D) Legislative
v 3 e T T R 1 of

o) 1980% B 1990

o 19927 (D) 2004 #

Panchayati Raj was established in India in

(A) 1980- (B) 1990
(C) 1992 ' (D) 2004
Wit SRR g (wreRtaeY) @ ferame = e 2
(A) TREER-AfaTe B e

(B) witmlis siit wieraa H1 AHEH
(C) W 3l greEThar
(D) WA mf |

What are the mgjp, jqeologies of Com
(A} Believe i, Marxism-Leninism

(B)

(C) Opp':’m’-nt of imperialis™ and communalism
im :

(C) wﬁsﬁa% (D) ﬁaw

7000/74
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10.

10.

11.

11.

12.

12.

5
825(Jc)

Which of
of the f . .
ollowing is the maj
: ain feature of de
mocracy ?

A .
iB} Sense of patriotism
] FOI‘m :
ation of :
) national character

Progressive government
(D) All of these

w9 srafine witeat frew wm -
(A) Ty
(B) wuw
Who has the residuary powers in the Indian ﬁg ™ l
A) Sta union ?
B te (B) Union
' oth (A) and (B) (D) None of th .
-E'r ‘Iﬁr -o these 1
REIL e = e I A @ s wn 2 2
(A) & @ (B) SAEA
(© 3 e D) wAdwh 1
Which of the following is the main reason for land degradation in
Punjab ?
(A) Intensive farming (B) Deforestation
(D)  All of these 1

(C) Over-irrigation
ﬁmﬁg@q_mwmqgm‘iﬁmwﬁmﬁ?ﬁm%?
e T T (B) S THA e
fory FTRYE O) 4 oyfaER W w1

tollowing conservation methods does not involve direct

(A)
(C)

which of the
on of communities ?

participati

B Y oint forest management

(B) gave seed movement

(C) Chipko movcmen-t | . ‘

(D) Delirnitation of wildlife sanc |
[ Turn over
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3 @ - T BeAlER et 2

13.
A @ - . B T
© W D) |
'3 Whichof the following is a leguminous crop ?
(A) Pulses (B}  Jowar
() Coarse grains (D) Rice I
4 P AP ISR Q) a rfr 2 ¥ e san w5 e 2
(a) S SR (B) awlt s
() g FER (D) v sMR -
14. Which of the following terms refers to the trade between two or morc

countries ?

(A) Internal trade (B) External trade
{C) International trade (D) Local trade 1
15.  goft TEER T A FE g 2
(A) 1991 B) 1992
(C) 1993 (D) 1989 1
15. Earth Summit was organized in
(A) 1991 | (B) 1992
(C} 1993 (D) 1989 | 1
16. T & H iy, yrpfis WHRA B IAG cooveveeen e < e 2
(A) i @) faee
(€) Tl (D) g Srenfie 1
16.  The productigy of 3 country mostly from natural process is an activity of
................... sector
(A) Primary (B) Secondary
(C) Terti ary. ' (D) Information Technology

7000/74



17.

17.

18.

18.

19.

19.

20.

20.

7 825(JC)

T WETl g § wed 3R O WA srfrrn fyugy ¢
. 2 3w
-(C] R-atr geen g I UV 1
Most of the decisions related to savings and log, . the self-help
s taken

group are taken by

(A) banks (B)  memberg

(C) | NGOs . ' (D)  none of these :
Ao 3 e w0 F YR 7 Terar agar @

@) wf A R | (B) el 3w & @i

c) FemfwimFaR=wismi/ (D) FHIR & 1

Globalisation has helped improving the standard of living of
(A) All the people

(B) People of developed countries

(C) Workers in developing countries

(D) None of these

mﬁﬁaarﬂmﬁgﬁmﬁmwzﬁagé%ﬂ?
(a) 1981 (B) 1991
© 1971 (D) 2001 1

When was the process of 1ibcralisation started in India ?

(A) 1981 (B) 1991
) 1971 D) 2001 |
'?“ﬂ?“*k*“‘“ﬁﬁ#mIWmmfﬁm1wm
Ay 198° G (B) 1984 ﬁ
©) 198° L D) 1987 % _ |
Consume’ Protection Act was passed in

1985 (B) 1984
g 6 D) 1987 :
@ 1% |

[ Turn over
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qug - g
PART - B
( TR - | )
( Descriptive - | )

(P SR S SRR o T 80 wiet & A )

AnsWErS of the following questions in about 80 words each. )

[Wri{e n
1 ﬁﬁﬂﬁa;wmw' 1+1+1+1
=T
1. Write four causes of French Revolution. 1+1+1+1
OR
Why was ‘the Congress dissatisfied with the report of the Simon
Commission ? ‘ | 4
2. guarc g &1 a2 ? 4
. H4ar
i 2 T 2ol ) ST TS SR
2. What is meaning of federalism ?
OR

Throw light on the need of political parties in a democratic country.

3. I%@%ﬁﬁwwaﬁm%mwmmm?

AT
Wgéﬁmw%?aﬂféaﬁusﬂ?ﬁqz%ﬁwavhaﬁﬁm 2+ 2
3. What steps shoyld be taken to prevent soil erosion in hilly areas ? 4
OR
What is water scarcity ? Describe the methods of rain water harvesting.
: R
4. IﬂaﬂIaﬂtﬁmmﬁa;ﬁ?Ti§ﬁ$a~qq¥fﬂIiﬁﬁﬁFﬁféﬁ%ﬂEﬁTiﬂﬂgﬂ?fﬁiql 4
aredrl
2+ 2

Rl & 319 gy sy 0 TS TR TER B T By

7000/74
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9
Briefly exn.. ¢ in the
interest of the r;:le reform programmes done by the gove* 4
mers
OR ,
What do _ of soil of
: : s
India. you Understand by soil ? Describe the main typ® 9 +2
( I - 01 )
( Descriptive - 11 )
| ( ™1 it 3% 3o vl e 150 vt 3 AP )
(Write answers of the following questions in about 150 words each- )
. ‘ 6
el 5 whreeor o whwar #t waw § Rk

HYdT

T st Ry 6w frdward § 2 Rl ww g AR

Briefly write the process of unificatien of Italy. 6
OR | |
What are the characteristics of industrial development in India ? Mention
any four. 13+ 13+ 13+ 13
R T =< & 319 w41 guwd & ? | ' 6
| Jrera

S e ate Sutgrht, e 3R 39 WER w1 16T F@ 2
What do you mean by decentralisation in India ?
. OR
/ .
How doO€S democracy form an accountable, re;ponSIhle and legitimate

>
governmﬂnt

aqﬁﬁamﬁﬁawmwmﬁﬂﬁmﬁﬁﬂl Z
AT
ﬂﬂﬁﬁFm?mm%ﬁﬂﬁmﬁqdﬁmmanmh#ﬁmu
write ar essay on the forest and wildlife conservation,
OR
Describe the production and distribution of iron ore i Indig ]

[ Turn over
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g, fi®

Hqar
g SR g1 % Bt hr = Hifg N
8. Discuss the bases for the classification of economic activities intc
diffcrﬂ'ﬂt gectors. 6
OR
Discuss the functions of World Trade Organisation. 6
( wTAfaa T v )
( Map Related Questions )
frdr : v T 9(A) AT 9(B) AT § Heldd €
Instruction : Question Nos. 9(A) and 9(B) arc related to map.

Wwﬁﬁw%ﬁaﬁ}mmﬁaﬁ@%ﬁmmaﬁﬁaﬁmwﬁ
am aen A & f7T 1, ] a7 Fuifa £

9(A).

i aﬁﬂﬂwmﬂmﬂ?ﬂwmmw' 3t
ii) 2 @ Tal TEEEt A VG g Al 1+
iiij 98 TN Tl 1920 & =g =1 fETA I A 1+3
w) e et <t 3 e e w1 e # g e o 3+ 3

332

98 T Wi 1927 & HHE H aftdeH g3
9(A). In the given outline map of India, locate the following places by
the symbol ©® wjth names. For correct mention of name and marking of

location 1, I marks have been allotted.

amme of non-cooperation movement was

i) The place where the Progr

' accepteqd, % * %
i) The place where Chandrashekhar Azad was martyred. 3+ 7
iti)  The place where the Congress session was held in 1929. .12. + 3
iv) The Place where Gandhiji led the peasant satyagraha in Bihar.

V) The plag, where the Congress session was held in 1927-

7000/ 74
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o). Trdw : Ry & wefE 3 Sl @ gt

) wEwng @ geurd T @) s g A At | s+ ]
i) aﬁaﬁamwammwm@)mwﬂ”%ﬁ ot
a7 7
i)  WRa % e o T S g F am (888) R T I
iv) T %I ue eg-3a w@Ea (X fas g T || 2+1
v) % M faga sl g (©) fas gro A af z 2
9(B). Instruction : Show the following on the given map of India -
i) Capital city of Maharashtra by symbol @ with name- 3t 2

o te and
Largest producer of mineral oil with the name of sta

symbol ® *

[ ST

1
2
Write the name of any atomic energy centre of India with (SSS)

sign.

141
272

iv)  One iron-steel plant of India by symbol (X) with name. - 31+3
v) One thermal power station by symbol @ with name. 14+1
2 2

( Fraer gfzanfire witenfirat & ford s v 3 e & e 4

{ Only for visually impaired examinees in lieu of Map work )

9(a). fdwr: ﬁm%&auﬁ%maﬂw-g@wﬁ%ﬁmwrﬂmq

AR _
P mwmmmﬂmmm&mmﬁmwm? :
i)  forE UM W AR e TG g A ? |
i)  foPT WM W 1920 ¥ HilW %1 AT FHT o1 ? !
iv) meﬁﬁmﬁmmmﬁmﬁﬁﬁ%m? 1
y)  RE T W 1927 § W 1 SRR g3 At ?

17000{?4
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a(A). Instruction’ Wrile the answers of the [0llOWINg questiong

In your

answer-book. Do not use map- '
i At which place was the programme Qf nDn-COOpeF‘ation movement
accepted ? 1
i)  Atwhich place was Chandrashekhar Azad martyred » 1
iijj ~ Where was the Congress session held in 1929 ? 1

iv)  Atwhich place did Gandhiji led the peasant satyagraha in Bihar ?1

V) Where was the Congress session held in 1927 ? 1
O(B). few : fefwfea wwl & I ot swm-gfen § U sERE @ g 5
I

) HERTY H TWEE T w5 A ffe) 1
i) RS A T waiiyw Saes Ts @ am R 1
i) R % R uw T e g % T Rl T
v) ¥R % U elte-39d T9% 1 A9 fiRau 1
v) %Eﬂ@ﬁmﬁgﬁwaﬁaﬂﬂqmmql , 1

9(B). Instruction: Write answers of the following questions in your

answer-book. Do not use the map,

) Write the name of the capital city of Maharashtrg. 1
ii) Write the name of the state which is the largest producer of

mineral oi], : 1
i) Write the name of any atomic C€NCIRY centre of [nqia. !
iv) Write the name of one iron-steel plant of Indig 1
v) Write the name of one thermal power statiop 1

825(JC) - 4,48,000
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